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TS A ARgehel & foRI™ Teqsti &l =@ HifSUl (IW 150 =& | IA0)

Discuss the salient features of the Harappan architecture. (Answer in 150 words)

e % NfHe TH=Ed & TE UEgetl #1 The Sl (IW 150 wssi § dife)

Examine the main aspects of Akbar's religious syncretism. (Answer in 150 words)

‘OffrRl o WA F TG K ST kT TR AR A=EHIR AN ¥ R G’ e wifEu (W
150 vre&l # =ifS)

'"The sculptors filled the Chandella artform with resilient vigor and breadth of life." Elucidate. (Answer
in 150 words)

Setarg, UfeH 3R "us TR § gfg wE g 3w & s @ b9 wafad Y W22 SIel &
qY == il (ST 150 =i § Gfem)

How are climate change and the sea level rise affecting the very existence of many island nations? Discuss
with examples. (Answer in 150 words)

-y Wt wfafafeml = 22 3 wfafafsl wra § Ao fagoast @ feg ger gefua 22
IYYF S0 % Y == FHifol (IW 150 Teai | o)

What are non-farm primary activities? How are these activities related to physiographic features in India?
Discuss with suitable examples. (Answer in 150 words)

IUIH SEEN % WY, WRd § GR Sell SR & wiiefass iR efefe el @i Hem W e
FHI (ST 150 T=al | W)

Explain briefly the ecological and economic benefits of solar energy generation in India with suitable
examples. (Answer in 150 words)

A o €2 A HY SR Fel St €7 I uRomH @ €7 IS afed §Eesyl (IW 150 IR
7 ifsre)

What are Tsunamis? How and where are they formed? What are their consequences? Explain with
examples. (Answer in 150 words)

IR § T v, TRl e 3R fowonedsh = % UEl i hd Galfud sid €2 (W 150 Ik o
ifs)

How does smart city in India, address the issues of urban poverty and distributive justice? (Answer in
150 words)

qd o fafee ¥a1 @1 AR el AN UAE] =A% GASH Sl Ydieh § T ity
(IW 150 ¥l H Q)

The ethos of civil service in India stand for the combination of professionalism with nationalistic
consciousness - Elucidate. (Answer in 150 words)
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1 AUH] 1 @ TR YR 1 UROMT Heret MRS ST GEpid € 82 o W Hl gfe
Fife@l (W 150 v A fSW)

Do you think that globalization results in only an aggressive consumer culture? Justify your answer.

(Answer in 150 words)

Tl e el & THS GUR YA SR dEH 3 A % o 9l Suferd qeel sl gmere
F PN B == FU (SW 250 TR F i)

Mahatma Jotirao Phule's writings and efforts of social reforms touched issues of almost all subaltern

classes. Discuss. (Answer in 250 words)

T, el e, foen @i i el & fawa o eqrendt & URftwe sl § WA % YgE il
1 gfehan i W@iferd ST (W 250 38 o SifSw)

Trace India's consolidation process during early phase of independence in terms of polity, economy,

education and international relations. (Answer in 250 words)

U fova & fou widiet st st FRa grfirar 81 9 s (37 250 v | ifew)

The French Revolution has enduring relevance to the contemporary world. Explain. (Answer in 250

words)

fova & oUad da Herl @ faau @1 Aiifore Tt STl 9 deadt da Herl 9 fRE TR
far= €7 (IW 250 w=dT ¥ <if)

Give a geographical explanation of the distribution of off-shore oil reserves of the world. How are they

different from the on-shore occurrences of oil reserves? (Answer in 250 words)

T SR &5 Ao o H ST UE. IR AR UE, qeh-iehl & WY HiM digae (TL3E.) 3R
SH 1 YWE @1 ¥ ST HY fHE ST wehar 827 (IW 250 v § i)

How can Artificial Intelligence (AI) and drones be effectively used along with GIS and RS techniques

in locational and areal planning? (Answer in 250 words)

= IS foF U2 & HeEdl 3R Hernrg afgd % SR R " (WES) H, HEd Soaq M 6
TR Tiafateal & SR, giadd &9 B9 21 (3T 250 v | i)

Discuss how the changes in shape and sizes of continents and ocean basins of the planet take place due

to tectonic movements of the crustal masses. (Answer in 250 words)

gy, gt iR S goneEl & favm ged % e W A d9fgm o Seen faw ok s W=l
FHIfTTl (IW 250 T’ § <o)

Discuss the distribution and density of population in the Ganga River Basin with special reference to

land, soil and water resources. (Answer in 250 words)
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19.

20.

ayfieh TaS W e Heie AT agd % deNE, BRE e SN 9g @ §- o $EeR Hd 3@
&7 9T ST W ST IW T SR IR TR FKIfU (IW 250 e H Hfvw)

How do you account for the growing fast food industries given that there are increased health concerns

in modern society? Illustrate your answer with the Indian experience. (Answer in 250 words)

e W W SR <4 gU Had [ BiEel A, 9Rd S <9 H T Sl shi Sedl & |
THUE § 37 Ghdl § fewnh siful (I 250 v § dfse)

Achieving sustainable growth with emphasis on environmental protection could come into conflict with

poor people's needs in a country like India Comment. (Answer in 250 words)

1 R | ST T 1 g, foeenrd oIk gatg & 3é-fird Sifga 22 e fomm =ae shife)
(W 250 vl H Ff)

Does tribal development in India centre around two axes, those of displacement and of rehabilitation?

Give your opinion. (Answer in 250 words)



